
M6*25

M6*25

M4*10

M4*60

M4*10

G

F

2

C

C

6

6

6
6

1

4
5

45
1

1
5

1
1

4
45

5

1 1

5 4

7 7
8

Ax1 ① x16

① x 8

M6*25

① x 8

x 2

② x4

③ x1

④ x4

⑤ x8

⑥

⑥

x2

⑦ x2

⑧ x2

Bx1

Cx1

Dx2

Ex2

F x4

Gx4

1 2

4 5 6 7

3

② x 4 ⑧ x 2
M4*60

⑦ x 2

④ x 4 ⑤ x 8

If there are any questions during the assembly process, please contact us. An video and description about the 
step you were stucked will help us to understand the problem quickly.

Twist screw(1) to connect (A)(B)(D)(E)
 to form the frame.

Pass Screw(1) through (5)(4) and
the holes on (C) respectively, 
securing it on (E).

Place (G) into (F), 
then twist screws 
to connect (2)and (F) 
to form the drawers.

To prevent tipping over, you could 
secure (8) on the wall, then twist 
screw(7) to connect (8) with (A)(B)(C).

To protect the fabric on (C) from scratching, 
put (6) in the corners of (C) as displayed, 
then insert the frame into (C). Remove (6).

1

1

1

1

1

1

1

B
B

E

E

D

1

A

A

x 2

Finished！

A

B
C


